MTH 263, Homework #6, Summer 2023 Name Ke;\r

Instructions: Write your work up neatly and attach to this page. Record your final answers (only)
directly on this page if they are short; if too long indicate which page of the work the answer is on and
mark it clearly. Use exact values unless specifically asked to round.

1.

Complete two interactions of Newton’s method by hand for the function f(x) = x3 — 3 with

starting condition xy = 1.4. X .
a=l.4992251 e Bl flle

Use Newton’s method (and technology) to final all the zeros of the function to within 0.001
(there may be more than one zero to find).

5 uO.:lﬁ"f’i”t‘S
a. f(x)=x3+4 X=-1.5874 dg)=x5+x—-1 X Cred B0
b. h(x) =x—2Vx+1 X=4828497 o)y _34Inx S
c. ax)=x3—cosx X= 0.80s434 X=a., >6 394

Explain why Newton’s rrlethod might fail. V. dewoadive mb&k be 2240 prbuddh ol d
heder e rdco MM%@/WW Thore mu.sﬁ} bxmzem.mty[g

Find the indefinite integrals.

o Conuting .
a. [x+7dx e. [Vx3 +1dx
2 . A
b. [(1+3t)t3dt f. [t? —costdt sz_
c. [secy(tany — secy)dy g. [ 2x — 4%dx
5
d. [x—=dx

Following the example of the proof of the formula for the Zi‘" , complete a similar proof for
=l

Z;‘z . [Hint: it's a two-step proof. First show that the proposed formula works for some “base” pca 2
i=l

value of i, and second, show that if it works for n, it also works for n+1 (find the sum of n+1 two
different ways and show that they are the same).]

Use the limit process to evaluate the following integrals. Show all steps.

a. _I[(x2+x)dx 57(0

L=}

b. (64—x3)dx 128.25 See Excd F\A-l-'
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c. _[(3x+4)dx bo
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